
 

B.A. /B.SC. SEMESTER-VI (GENERAL) EXAMINATION, 2022 (CBCS) 

SUBJECT: GEOGRAPHY 

COURSE: GE-2 (HUMAN GEOGRAPHY) 

Time: 3 Hours                                                                         Full Marks: 60 

            The figures in the margin indicate full marks. Candidates are required to give their answers in their 

own words as far as practicable 

 

SECTION-A 

 1. Answer any ten questions.                                                                                     2×10 = 20 
 যে  য োন দশটি প্রশ্নের উত্তর যেখ ।  

 

a) Name the major racial groups of the world.  

পৃথিবীর প্রধোন জোথি য োষ্ঠী সমূশ্নের নোম উশ্নেখ  র ।  
b) What do you mean by census ? 

আদোমশুমোথর বেশ্নি থ  যবোঝ ?  

c) Who postulated the Demographic Transition Model?     

জনসংখযো থববিত শ্ননর িত্ত্বটি য  প্রবিত ন  শ্নরন ? 

d) What do you mean by ‘Pre-Industrial Stage’ of Demographic Transition Model ? 

জনসংখযো থববিত শ্ননর প্রো -থিল্পীয় পেতোয় বেশ্নি থ  যবোশ্নঝো ? 

e) What do you mean by hamlet ?  

            কু্ষদ্র গ্রোম বেশ্নি  ী যবোশ্নঝো ? 

f) Define megalopolis . 

মেোন র পুশ্নের সংজ্ঞো দোও । 

g) What is race? 

জোথি বেশ্নি থ  যবোঝ ? 

h) What do you mean by ethnicity ? 

জোথিসত্তো বেশ্নি থ  যবোঝ ? 

i) Define culture. 

সংসৃ্কথির সংজ্ঞো দোও । 

j) What is universal religion ?  

থবশ্বজনীন ধমত থ  ? 

k) What is dry point settlement ?  

শুষ্ক জনবসথি  োশ্ন  বশ্নে ? 

l) How does population density measure ? 

জনঘনত্ব থ ভোশ্নব থনরুপন  রো েয় ? 

m) What is optimum population ? 

 োময জনসংখযো থ  ? 

 

 

 

 



 

n) Name the high population density regions of India . 

ভোরশ্নির অথি থনথবড় জনঘনত্ব অঞ্চে গুথের নোম যেখ । 

  o) What is ecumene ? 

‘ইকুমেন’ কামক বমে ? 
 

SECTION-B 

 

          2. Answer any four from the following questions.                                              5×4=20  

            থনম্নথেথখি যে য োন চারটি প্রশ্নের উত্তর দোও । 

a) Discuss major branches of Human Geography. 

            মোনবীয় ভূশ্ন োশ্নের প্রধোন িোখোগুথের থববরন দোও । 

b) Mention the significance of female-male ratio.  

নোরী - পুরুষ অনুপোশ্নির গুরুত্ব উশ্নেখ  র । 

c) Briefly discuss the patterns of rural settlement. 

গ্রোমীণ বসথির থবনযোস সংশ্নক্ষশ্নপ আশ্নেোচনো  র । 

      d)   Illustrate functional classification of town. 

িের বসথির  োেতোবেী ি যেথনথবভো   র ।  

  e) Describe in brief the differences between Rural settlement and Urban settlement. 

গ্রোম ও িের বসথির পোিত য  র ।  

       f) Explain the shape of age-sex pyramid of a developed nation? 

উন্নি যদশ্নির age-sex pyramid য মন েয় বযোখযো  র । 

 

SECTION-C 

 

3. Answer any two questions from the following:                                               10×2=20 

        যে য োন দুইটি প্রশ্নের উত্তর দোও: 

a)   Discuss the Demographic Transition Model of India.  

   ভোরশ্নির জনসংখযো থববিত শ্ননর মশ্নেেটি আশ্নেোচনো  র ।  

b)   Discuss the patterns of urbanization in India after Independence.  

  স্বোধীশ্নন্নোত্তর ভোরশ্নি ন রোয়শ্নণর ধরণ  আশ্নেোচনো  র ।  

c) Define Human geography. Explain the major themes of Human geography. 

মোনবীয় ভূয োশ্নের সংজ্ঞো দোও। মোনবীয় ভূশ্ন োশ্নের প্রধোন থবষয়গুথে থ  থ  ? 

d) Classify rural settlements according to pattern. 

  থবনযোস আনুেোয়ী গ্রোমীণ বসথির যেনীথবভো   র ।  

 

 

 

 

 

 

 


